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UNIVERSITY OF NORTH BENGAL
B.Com. General Part-III Examination, 2022

B.Com.
PAPER-3G1
COST ACCOUNTING AND MANAGEMENT ACCOUNTING

REVISED NEW SYLLABUS
Time Allotted: 3 Hours Full Marks: 100

The figures in the margin indicate full marks.

COST ACCOUNTING / #ifsayy f&siafamgt
(Marks: 50)

GROUP-A / Tenl-3 / @vs-&
Answer any fwo questions 15x2 =30

@-@FA 76 &taiF Ted me

DT Tl GSacl UdhT IR o]

1. (a) Following information relating to a type of raw material is available: 5
Annual demand- 2400 units
Unit Price- Rs. 2.40
Ordering cost per order- Rs. 4.00
Storage cost- 2% per annum
Interest cost- 10% per annum
Calculate Economic Order Quantity.

(b) The particulars of material A are as follows: 10
Normal usage- 10 units per week
Minimum usage- 5 units per week
Maximum usage- 15 units per week
Reorder quantity- 60 units
Reorder period- 3 to 5 weeks

Calculate:
(i) Reorder Level
(i) Minimum Level
(ii1)) Maximum Level
(iv) Average Stock Level.

2. (a) The firm employs five workers at an hourly rate of Rs. 2.00 per hour. During the 5
week, the actual time taken is 40 hours each to complete the job. The standard
time allowed is 48 hours each. Calculate the labour cost under the:
(1) Halsey plan and (ii) Rowan’s plan.
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(b) A manufacturing concern requires a Cost Sheet to be prepared from the following

3114

information:
1st Sep., 2020 30th Sept., 2020

Rs. Rs.
Raw material 1,00,000 1,23,500
Finished goods 71,500 42,000
Work-in-progress 31,000 34,500
Transactions during the month of September, 2020 are as follows:

Rs.

Raw material bought 88,000

Direct wages 70,000

Work expenses 39,500

Administrative expenses 13,000

Sale of factory scrap 2,000

Selling and distribution expenses 15,000

Sales 2,84,000

Prepare Cost Sheet for the concern.

Write short note on any three of the following:

(i) EOQ
(i) Cost Centres
(ii1) Profit on contracts not yet completed

(iv) Cost Plus contract / #RER [Kfen s

(v) Techniques of costing.

The following amounts have been spent on a contract still unfinished on
31st December, 2020:

(1)
(i)
(iii)
(iv)
(v)
(vi)
(vii)
(viii)
(ix)
(x)
(x1)
(xii)

Material sent at site- 385,349

Labour engaged at site- 374,375

Plant installed at site at cost- 315,000

Direct expenses- 3,167

Establishment charges- I4,126

Materials returned to store- I549

Work certified- 1,95,000

Cost of work not yet certified- I4,500
Materials in hand on 31st December- 31,883
Wages accrued due on 3 1st December- 32,400
Direct expenses accrued due on 31st December- I240
Value of plant on 31st December- 1,100

The contract price has been agreed at I2,50,000 and cash has been received from
the contractee amounting to ¥1,80,000.

Prepare Contract Account.

10
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GROUP-B / f[et9-2 / wrs-@
5. Answer any two questions:
- 7fF elvea Teq wies

TPl i GSacl UdT IR & e

(a) Differentiate between FIFO and LIFO methods of issuing material.
WA A (F6@ FIFO @3 LIFO #&feq N #(1<% @141

AT STRY T FIFO X LIFO fafdres dra f1ar e |
(b) Calculate from the following data, the machine hour rate for Machine A:

Cost of machine 321,000
Estimated Scrap Value 31,000
Effective working hours 40,000 hours

Running time for a 4 weekly period 150 hours

Four-weekly service charges for maintenance of the machine is I100 and the
standing charges allocated to the machine for a 4-weekly period is ¥100. Electric
power used by the machine during 4-weekly period is X75.

(c) Distinguish between Cost of sales and Cost of goods sold.
Cost of Sales @3 Cost of Goods sold-43 3 #(1<Fy (rAte |
‘Cost of sales’ X ‘Cost of goods sold” der! fH=TdT eRegaIN |

(d) What is allocation and apportionment of overhead?
wfofe AEH CF allocation 93k apportionment FICH ¢ 9
‘Allocation’ ¥ ‘apportionment’ WdI & &I ?

GROUP-C / Tetat-9/ wus-1
6. Answer any five questions:

-1 A5G et Ted wiss

eIl Gl Urgacl UedhT SR o]
(a) What is Carrying Cost?

Carrying Cost I(F 0T ?

‘Carrying Cost’ @& &I ?
(b) Define Time Rate.

Time Rate-949 &R WG |

‘Time Rate’ IRHTT T8 |
(c) What is Cost Unit? Give example.

Cost Unit I ICeT1 Srizgel nie |

“Cost Unit’ & 81 ? SaTeRYT fage |
(d) What is Prime Cost?

Prime Cost I (o7 2

‘Prime Cost” & & ?
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(e) What is an overhead?
Overhead S¢S (T ?
‘Overhead’ @ &I ?

() What do you mean by Indirect Material?
Indirect Material I&7Ce & @Rt 9
‘Indirect Material’ ¥=TTel & 380 ?

(g) Define Direct and Indirect wages.
Direct @<} Indirect g 7S WIS |
Direct ¥ Indirect wages IR B |
(h) What is Indirect Labour?
Indirect Labour SIS (T ?
‘Indirect Labour’ & &I ?

MANAGEMENT ACCOUNTING / I3Bi°+ fafamt
(Mars: 50)

GROUP-A / Tenl-3 / @vs-&
Answer any fwo questions 15x2 =30
@~ 7f5 elva Ted nis

TPl Bl Goacl UdT IR &g

7. From the following Balance Sheet, prepare a statement showing changes in 5+10
Working Capital and also Fund Flow Statement:

Balance Sheet

Liabilities 20;“ 20?21 Assets 20;“ 20?21
Equity Share Capital 40,000 48,000 Land & Building 21,000 28,000
Share Premium - 2,000 Plant & Machinery 58,000 64,000

(at cost)

General Reserve 6,000 10,000 Investment 1,800 2,000
Profit & Loss A/c 9,600 13,600 Stock 26,000 21,000
7% Debenture 10,000 - Sundry Debtors 15,000 17,000
Sundry Creditors 26,000 28,000 Bank 3,000 5,200
Proposed Dividend 4,000 4,800
Prov. for Depreciation 29,200 30,800
on Plant & Machinery

1,24,800 ‘ 1,37,200 1,24,800 | 1,37,200

Other information:
(i) A plant costing 4,000 (written down value- Z1,400) was sold for I600

(i) An interim dividend of ¥2,000 was paid in addition to the proposed
dividend.

8. From the following forecast of Income and Expenditure, prepare a Cash Budget 15
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9. (a)

(b)

10.(a)

(b)

(c)

3114

for the three months commencing 1st June when the bank balance was %1,00,000.

Factory Admn. &
Months ~ Sales ~ Purchases Wages Expenses Selling expenses

) ) ) ) )

April 80,000 41,000 5,600 3,900 10,000
May 76,500 40,500 5,400 4,200 14,000
June 78,500 38,500 5,400 5,100 15,000
July 90,000 37,000 4,800 5,100 17,000
August 95,500 35,000 4,700 6,000 13,000

A sales commission of 5 percent on sales and due two months after sales is
payable in addition to selling expenses. Plant valued at ¥65,000 will be purchased
and paid for in August and the dividend 0f 15,000 for the last financial year will
be paid in July. There is a two-month credit period allowed to customers and one
month received from suppliers.

Describe the assumptions of Break-even analysis. 5
Break-even R Seiwaf 3@ 341
-39 fARTTHT ERUMERs (assumptions) IO THE |

The selling price of a product of a company is assumed at X100 per unit. The 2x5=10
company sold 7000 units and 9000 units in two successive periods and has
incurred a loss 0f 10,000 and earned a profit 0f10,000 respectively.

Calculate:

(i) P/V ratio;

(i) Amount of fixed expenses;

(iii)) Number of units to break even;

(iv) Volume of sales to earn a profit 0f 40,000
(v) The profit when sales volume is %10,00,000.

What is meant by budgetary control system? 3+5+7
MG oz “iafe e & @Rl 9

Budgetary control system & & ?

Distinguish between fixed budget and flexible budget.

23 ICET @R AT ACEHR T 2N T4
Fixed budget ¥ Flexible budget d=e! fi=iaT T |
Describe the essential steps for budgetary control.

ACSE fEeR TRE qivfe 39T F9)
Budgetary control &I &TRT IR TRUEEH IR *|-i5|<1|

GROUP-B / f[ei-4 / @re-g

5 Turn Over
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11.  Answer any ftwo questions: 5x2=10
- 7fF elvaa Teq mies

DT Tl Goacl UAdT IR o]

(a) Is depreciation a source of fund? Give reasons to your answer.
S5 F| SRR T 9 (1N SEER AICF I nie |

& YoIgT BIYH! (fund) HIT BT ? AT STIRBI BRI RN |

(b) From the following information, calculate Inventory/Stock:

Current ratio- 2.5 : 1
Acid-test ratio- 1.5 : 1
Current liabilities- 350,000
(c) Distinguish between Cash Flow Statement and Funds Flow Statement.

ol iR Rl @<k ol @R i W wHie 9
Cash Flow Statement ¥ Funds Flow Statement dI<ieb! f=TaT oiegai |
(d) Graphically show the break-even point and angle of incidence.
Break-even Point €% Angle of Incidence (SNfed &lol) @IBCad AR e |
UTHHAT sidhsH fd=g T angle of incidence IS |

GROUP-C / [etl-a1 / wus-1
12.  Answer any five questions: 2x5=10
- 2Apls 2o Teq wies

oIl Gl UrgacT YedhT SR ole]as

(a) What is the purpose of determining current ratio?
Current Ratio (5511 Sie7ire) fdfaees Sowey & 9
Current Ratio fEIRoT 79 3299 & &1 ?

(b) Define management accounting.

Al fmia ket nie |
Management accounting IRSIIEE! Tlﬁgﬁz[l

(c) What do you mean by ‘angle of incidence’?
oo (FI TS [ @I 9
‘Angle of incidence’W=dT & &I ?

(d) Write the major sources of Cash Inflow.

i S 6 BeAefet @12
‘Cash Inflow’ &7 Ud AIIe® o]l |

(e) What is margin of safety?
fRieherm Bl (Margin of safety) I et 9
Margin of safety & &I ?

(f) Write two benefits of using marginal costing technique.
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2iifes “Ifra ofafod 7o Soiwifel @11

AT AN WA (marginal costing technique) YIRT 9 g WIS
ETE N |

(g) How is earning per share computed?
Earning per share &SI s/l 41 23 ¢
gl TRR AT SR AU TR 2

(h) What is the purpose of profitability ratio?
Profitability ratio-4< Ty F 9
‘Profitability ratio’ &I It & &I ?
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